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$QDOLVLV�5DQFDQJDQ�6LVWHP�3HQJHQGDOLDDQ�3HUVHGLDDQ�SDGD�7RNR�$ULVND

2OHK���1RYLWUL�%XODQGDUL

7XMXDQ� GDUL� SHQHOLWLDDQ� LQL� DGDODK XQWXN� PHQJHWDKXL� VLVWHP� LQIRUPDVL�

DNXQWDQVL� \DQJ� GLJXQDNDQ�� VHNDOLJXV� PHUDQFDQJNDQ� VLVWHP� LQIRUPDVL� DNXQWDQVL�

SDGD� 7RNR� $ULVND�3HQHOLWLDDQ� LQL� EHUEHQWXN� REVHUYDVL� GDQ� ZDZDQFDUD�� 'DWD�

GLNXPSXONDQ� GHQJDQ� PHQJXPSXONDQ� GDWD� GDUL� 7RNR� $ULVND� VHFDUD� ODQJVXQJ�

GHQJDQ� PHQJDPDWL�� PHQJXPSXONDQ� GDWD� GDQ� PHODNXNDQ� WDQ\D� MDZDE� GHQJDQ�

SHPLOLN� GDQ� NDU\DZDQ� WHUNDLW�� 'DWD� GLDQDOLVLV� GHQJDQ� PHQJJXQDNDQ� WHNQLN�

DQDOLVLV� GHVNULSWLI� \DQJ� PHPEDQGLQJNDQ� DQWDUD� SHQJHWDKXDQ� WHRUL� \DQJ�

EHUKXEXQJDQ�GHQJDQ�PDVDODK�\DQJ�DNDQ�GLWHOLWL�

%HUGDVDUNDQ� KDVLO� SHQHOLWLDQ� \DQJ� GLSHUROHK� EDKZD� VLVWHP� LQIRUPDVL�

DNXQWDQVL�SDGD�7RNR�$ULVND�EHOXP�HIHNWLI�VDPD�VHNDOL�GDQ�MXJD�WLGDN�DGDQ\D�QRWD�

DWDX� IRPXOLU�NKXVXV� VHUWD� WLGDN�DGDQ\D�SHQFDWDWDQ�\DQJ�EHQDU�ROHK�7RNR�$ULVND�

PHPEXDW� VHULQJ� WHUMDGLQ\D� KDO�KDO� \DQJ� PHUXJLNDQ� 7RNR�� -DGL�� SHQXOLV�

PHUDQFDQJNDQ� VLVWHP� LQIRUPDVL� DNXQWDQVL� SDGD� 7RNR� $ULVND� DJDU� GDSDW�

GLSHUJXQDNDQ�GDQ�GLMDODQNDQ��6HKLQJJD�KDO�LQL�ELVD�PHPEXDW�SHUNHPEDQJDQ�SDGD�

7RNR�$ULVND�GDQ�KDVLOQ\D�WHUOLKDW�MHODV��


